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QUESTION 1

A stored process link is available from a Collection Portlet in the SAS Information Delivery Portal. A content developer
wants to allow the user to select a style for stored process output. Which reserved macro variable would the developer
use as the name of the prompt?

A. _style

B. _odstemplate

C. _template

D. _odsstyle

Correct Answer: D

QUESTION 2

A content developer has created an interactive dashboard. In the SAS Information Delivery Portal, only a message is
seen instead of a dashboard indicator. What could be the reason?

A. Adobe Reader is not installed on the machine.

B. Adobe Flash-Plugin is not installed on the browser.

C. The SAS Interactive plug-in is not installed on the browser.
D. Java is not installed on the machine.

Correct Answer: B

QUESTION 3

Which item in a cube becomes a category data item in an information map?
A. Column

B. Hierarchy

C. Dimension

D. Level

Correct Answer: B

QUESTION 4

A SAS report has been created in SAS Enterprise Guide and made available to SAS Web Report Studio. Which
alterations can be made to the report in SAS Web Report Studio?
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A. Only headers and footers can be changed.
B. No changes can be made.

C. Report objects can be moved or deleted.
D. Additional report objects can be added.

Correct Answer: B

QUESTION 5

When saving a report in SAS Web Report Studio, what is a valid output type?
A. XLS

B. DOC

C. HTML

D. PDF

Correct Answer: D

QUESTION 6

A SAS Information Map is based on multiple relational tables.Which statement is true regarding the relationship?
A. The default join is an inner join

B. A relationship can be created only if column names in the data sources match

C. Arelationship can be created even if the joining columns are different types

D. The default join created is a full outer join

Correct Answer: B

QUESTION 7

Which statement is true about SAS BlDashboard?

A. All indicator display types can link to other content

B. All indicator display types support the use of ranges

C. All indicator display types automatically aggregate data

D. All indicator display types provide Display Settings properties

Correct Answer: B
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QUESTION 8

A dashboard shows a horizontal row of three static Traffic Light gauges. Each Traffic Light gauge is positioned vertically
instead of horizontally.

What should be done to position each gauge horizontally?

A. Select Flip Horizontal on the gauge properties.

B. Ensure the dashboard and indicator are the correct width to display three gauges.
C. Reduce the display size of the gauge sufficiently to allow all three to fit.

D. Change to a gauge type that supports horizontal display of multiple gauges.

Correct Answer: B

QUESTION 9

Which item is NOT requiredfor a SASBIDashboard Custom Graph indicator?
A. Indicator data object

B. Display type

C. Indicator name

D. SAS folders storage location

Correct Answer: A

QUESTION 10

A content developer links from a SAS report in SAS Web Report Studio and passes values to another report. What must
the receiving report have in order to use the passed value?

A. a prompted filter based on the received value

B. a List or Crosstab Report Object

C. a section for each possible value to be received

D. a data item of the same name as the value being passed

Correct Answer: A

QUESTION 11

In SAS information MAP Studio, where can you set the initial Creation Rule for relationship between data sources by
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default?

A. Resource pane
B. Design tab

C. Properties pane
D. Options window

Correct Answer: D

QUESTION 12

In the default configuration, which application does not prompt for user credentials?
A. SAS Add-In for Microsoft Office

B. SAS Information Map Studio

C. SAS Management Console

D. SAS OLAP Cube Studio

Correct Answer: A

QUESTION 13

A SAS task is performed in Microsoft Excel against 2 million rows of data in a table that is registered to the metadata
sever. What is the maximum number of rows that can be processed?

A. 500

B. 65536

C. 2 million

D. Excel\\'s limitation based on the version of Excel

Correct Answer: C

QUESTION 14

Whichstatement is true about a cube with a drill through data source?

A. The drill through data source remains in sync when performing an in-place update
B. The drill through data source is updated by rerunning the PROC OLAP code

C. The drill through data source can only be updated if flagged in the metadata
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D. The drill through data source is updated using a separate process

Correct Answer: B

QUESTION 15

Which statement is true regarding roles?

A. Only groups can be members of roles.

B. Only users can be members of groups or roles.

C. You must use roles to control access to application features.

D. You must use roles to control access to data sources and reporting content.

Correct Answer: C
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